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Psxchologg‘ cal Testing 133%)

1. Please compare and contrast item-reliability index and item-validity index.

(12 points)
Please discuss the Moral Judgment Scale and the Defining Issues Test.

(10 points}
3. A dichotomously scored ability test was administered t0 10 respondents. The person-item

2

score matrix is as following table. What is the standard error of

Measurement for this ability test? (11 points)

Item
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Research Methods (34%)

4. Distinguish between complete and incomplete counterbalancing. (3 points) [llustrate each
technique using an example of an experiment with 3 treatment conditions. (4 points)
5 Describe the major distinctions between qualitative and quantitative research.(4 points)

6. Using an example, describe the basic ABA design. (2 points)

How would the effectiveness of a treatment be demonstrated? (2 points)

7. A psychologist pretests a group of 8 year-old girls on their reading speed and comprehension,
puts them in a reading enhancement program for 8 weeks, then tests them again and finds their
scores are higher. She concludes that the program is effective. Describe three flaws of this
study and what she should have done in order to make her experiment more valid. (6 points)

8. Here is a quotation from Rind, B., & Strohmetz, D. (1999). Effect on restaurant tipping of a
helpful message written on the back of customers’ checks. Journal of Applied Psychology, 29,
139-144.

«To evaluate the effect that a helpful message from a server might have on restaurant tips,
the server either wrote a message about an upcoming dinner special on the back of the
dining check or left it blank. Dining parties who received a check with the helpful message
tipped a higher percentage of the final bill than those who did not have this message on the
back of their check.”

Please answer

o What is the DV (2 point) ?

« What is the IV (2 point) ?

e Describe three possible confounding variables to internal validity? (3 points)

9. A researcher isstudying the effects mood on recall of facts about a character in a story. When
her participants are put in a happy mood and then read the story, they tend to remember the
same number of facts about the character as do participants who are first put in a sad mood and
then read the story. In short, mood does not seem 1o affect recall ability. If you believe that the
effect of mood on recall might be influenced by the type of facts -- happy or sad -- that the
person is required to remember about the character, how will you design your experiment?
Please write down your experimental design including IVs (2 points), DVs (2 points) and
predicted results (2 points).
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Statistics (33%) Note. 0=0.05 for all the questions

10. A school psychologist would like to examine cheating behavior for 10-year-old children. A
standardized achievement test is used. One sample of n=8 children is given the test under
unsupervised conditions where cheating is possible. A second sample of 8 children receives the
same test under supervision. The test scores for these children are summarized as follows. Can
the psychologist conclude that the unsupervised group did significantly better than the
supervised group? (8 points)

UNSUPERVISED SUPERVISED

mean= 73 mean=65
$S=3000 §S=2600

11. The data represent scores for a sample of n=4 people measured over a series of three practice
sessions. The goal of the experiment is to examine changes in Scores as a function of practice.
Is there a significant difference among the three sessions? (8 points)
Test Session
Person _sessionl session? session3

A 3 3 6
B 2 2 2
C 1 1 1
D Z 4 6

--------------------------

12. Construct the regression equation based on the data. If X=5, set 95C.1. for the expected Y. (8
points)

X Y
0 4
2 1
8 10
6 9
4 6
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df 55 60 65 W 75 80 85 50 95 97.5 99 99.5  99.95

1| .158 .325 510 727 1000 1376 1.963 3.078 6314 12.706 31.821 63657 636.619

2 | .142 .289 445 .617 .816 1.061 1.386 1.B86 2.920 4.303 6963 9925 11598

3| .137 277 424 584 763 978 1.250 1.638 2.353 3.182 4540 584l 12941

4] .134 271 414 569 .74l 541 L1190 1533 2,132 2776 3747 4604 B6I0

s | .132 267 408 .55% 727 920 1.156 1.476 2.015 2571 3.365 4032 - 6.839

6 | .131 .265 404 553 .TIB 506 1.134 1.440 1.943 2447 1143 3707 5959

7] .130 263 402 .549 711 896 1119 1.4t5 1.895 2,365 2998 1499 5.40%

8 | .130 262 .399 546 .706 889 1.108 1.397 1.860 2306 2896 1355 5.04}

9 1.129 .261 .398 .543 .70} 881 1.100 1.383 1.833 2262 2821 3250 4781

10 | 129 .260 397 542 .700 879 1.093 1372 ).812 2228 2764 1169 4587

it | .129 260 396 .540 697 876 1.088 1.36) 1.796 2200 2718 3106 4437

12 ] 128 .259 .395 .539 695 873 1.083 1.156 1.782 2.179 2681 3055 4318

13 [ 128 259 394 538 .694 .870 1.079 1.350 1.77} 2160 2.650 3012 4221

‘14 { 128 258 393 537 692 868 1.076 1.145 1.761 2.145 2624 2977 4.140

35 | 128 258 .393 .536 .69i 866 1.074 1.34] 1753 2131 2602 2947 4073

i 16 | .128 258 392 535 690 865 1.071 1,337 L.746 2.120 2.583 2921 4013
17 | 128 .257 392 .534 .689% .863 1.069 1.333 L.740 2.110 2567 2.898  3.965

! 18 | .127 257 .392 .534 688 .862 1.067 1.330 1.7 2,101 ° 2552 2878 1SR
; 19 | 127 .257 .3%1 533 .688 861 1.066 1,328 1.729 2093 2539 2861 3383
20 | 127 257 391 .533 687 860 1.064 1325 1723 2.086 2.528 2845 1.350

2t | .1z7 257 .91 532 686 359 1.063 1.323 L7281 2.080 2.5I18 283 3.819

22 | 127 256 .3%0 532 686 L858 1.061 1321 L7 2074 2508 2819 1192

23 | .127 256 .390 .532 .685 358 1.060 1.315 1714 2,069 2500 2.807 3.767

24 | 127 256 .390 531 685 857 1.0%9 1318 1711 2064 2492 2.197 3745

25 | 127 256 .3%0 531 .6B4 856 1.058 1.316 1.708 2.060 2485 2.787 3.72%

26 | 127 256 .390 531 .6B4 856 1.058 1.315 1.706 2056 2479 27719 1707

27 | .127 .256 .389 531 684 855 1.057 {314 1703 2052 2473 2711 169

28 | 127 256 .389 .530 .683 855 1.056 1.313 1701 2.048 2467 2.763 3.674

29 | .127 .256 .389 .530 .683 854 1.055 1311 1699 2.045 2462 2756 3.659

30 | 127 256 .389 .530 .683 854 1.0%5 1.310 1.697 2,042 2457 2750 1646

40 | .126 235 .388 529 .681 .BS1 1.050 1303 1.684 2028 2423 2704 1551

60 | .126 .254 .87 527 .679 848 1.046 1296 1.67i 2000 2390 2660 3.460
120 | 126 .254 .386 526 .677 845 1.041 1.289 ].658 1980 2358 2617 3373

o | .126 2353 385 524 674 842 1.036 1.282 1.645 1.960 2326 2.576 3291
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13. The data represent the test scores of an experiment comparing two treatrent conditions.

?

be drawn from the data

10118 Can

t. What conclus

rmen

e in the expe

ts participat

Twenty subjec
(9 points)

Treatment

treatment 2

treatment 1

L el g o s WV AW &0

(oo T oo T TN o IR -]

Males

Gender

==

females

(=]

O

Biskk EHHE n, 8 F 8

95 ALY

e =M — S v Ladead £ 11 o — .- v O Y vy
2383 25R3 X952 53R ISRRR £3SSI Imang
g XoM wmmen Neciae NGl Dl Sl DR A mmem—
3=
e BB DNENE —d = —h S BN
g [¥R8 9RAGR RLANT ogzsn IR mEESE ERSES
o AEM Fmen NN NN e e S e e
an
TBER MEOoR NAMON O—ONE CNAOT MDAV AN
g |N¥ne <RA3F exmAl S-588 OGRS QBART TINTN
- Gioamr wemmn SN NANNe Snemem e Ll ymd e
~
g o dad = ” b Sankar e ) "o ” - 3] bl - -~ -~
e (IR SREEIL B0IXL RAN2g2 22332 §nINs 23RS
- RImn WA AN SARNAN DD e e
~
-3 id o -4 Qo et el e . ™~ "~ hidn)
g (S¥en RRaAIE RavAs AZRI5 IZRRY S8UTR IRy
- W9I$ WA, IR SO A A e e e b -
=~
it & "~ - i v —— oW OA VY L. Ea) -— . W - Lol [l
« 1o¥EE QIIOR ASYN A32nc 3355 RNSER Z2RGY
~ Foan Frmame NHASNNA Noeiie AR e e ———
~
L) - VDo Ml MO~ v wmhOY o
g |9398& vav-—d rownwym ARARIS N2523 ZLERAI ZINEN
b1 naivi Wmmma el Dee NN RN e e i S -
~
oS [t bt =g Ll e wy [ 24 - ” - b ol ~d
w |2¥F8 335R5 ZEERY 912253 29nns 25213 §RI5S
= bl R ATt T T T T P o R T R T P P e e oo vt -
= -
- — TN P AR — e -— e RN Ll
o [2¥nA @ONne anedv v¥mam ANNRDS IEORE SERER
- ugg, wwmemem LR TN, N ekl ol ] NN LB L TR
-4
aed w MY @MW ES Yaniem NG Pw DR =m
o |=23838 T8I0 M2CGE ATUSZ 259355 AR82T 2%:aAm
Las
- WP ™ - AW O~ W =~ -+ ] e d
wRE8 E222% I8883 2XSEY ANINR ARRIN mugss
L3 o L T T Ll XX 1] el rre M Ne Nesrird ™ 111-'-.
~
= Lo Latal ~t [nl ol il ] 1N o b inled X ] I~ o -4
anud S-SRI SARER IALRY Y9YIRR 39588 n=egy
~
had - - [ —-— - =W - ~ O I Dy b l-dl nl -
=n&8 85232 Ia3a¥ S24RX 5T9IT 935%% o3ugs
™~
- oy T ~ ™ PO =V o O D e ~ L
o732 Z8SHE [PBAR 2X2IQ YLNRS IREIT $3nne
~
- 3 -3 Vi O~ O B0 el Ll ] -y - -y e Y D ~ b \Dwy bl Lol - Bl
Q288 9Ra8% RR-33 FISEN 3238 IALAR qenas
“ SoPw wiwmma mmeimnd el oeeine mrer N N
-~
bt hmomy - - WP = D 4y r~ ~ o w oD =
enDh TRDED SR88C £3508 SINRM BRSOk
- JrMe MW TFAm mrimmm aEeiein redeol SNoirelnl Neeinied
-
Lr 1. - D TN GO0 e . L J Wy vy qNwomO
roda IEmoR’ ARYES ASREZ 25353 RRERT AARES
L] ”9’6 VW T mmmmm MMM mmeieim NN e NN
=
~
wy - w -3 - Ll Bl o Lo il ot ) o
=873 PITYS 2o BTARM I5IYY 25o3n JR0s8
Lol ”996 MNE T mmnm e meeiemm MM e e e,
&z
MM —RANN GHNCO AWV MO WA O ® I~ Mo
TO=E ednms aachla S¥EVR SASRY 33588 SE883
€
- o - [ v 1. a
mEaw n REEOT 2ARRY S3ARX ganne 3934w




